etween Standard and Vertex Form

uadratic Equations b

yisadard Form: y=ax’+bx +c Vertex Form: y = a(x—h)* +k

Convert from Standard Form to Vertex Form:

y=ax+bx=c —> y=alx—-h}+k

knowa, b, ¢ wanta, h, k ,ﬁ X:: ::_...‘?.-
2.0

a = a
wp
=) = h
x 2a
Solvefory = k

Substitute the values and rewrite.

Example 1: .
y = 8x" —16x + 27 We know a, b, cand want a, h, k
g=8 b=~ e C=21 <= ais the coefficient of the x* term

hEx=—= ===1 <—=1 yse the formula to find the value of h

substitute the value found for h into the

=y= 2o =8~ =
k=y=8(1)-16(1) +27=8-16+27=19 original equation and solve for k

y=8(x—-1)7+19

Example 2: )
y = 5%° — 40x + 67 ’ We know g, b, c and want a, i, k
a=5 . <= ais the coefficient of the X% term

-b =(=40 40
h=x= o —;—(5—)-1 S 4 <= use the formula to find the value of h

k=y=5(4)*-40(4) + 67 = 80— 160 + 67 =13 <—= substitute the value found for A into the
) original equation and solve for k
y=5(x—4)~13 ,

[

Practice: Convert the following quadratics from standard to vertex form.

1. y=5¢"-=10x+37 ' 2. y=7¢+28x+19 3. y=-2x"-24x-75



Sondard Him Y =0 docke  Verlay i y=a(-h4K
More Vertex Form Worksheet

_sir_ e same processes we developed in “Vertex Form Begun,” rewrite each of these
guadratic equations.

Expand each quadratic and write in Standard Form. Identify the Vertex for each: (7,7)
Vertex Form Standard Form Vertex is at . . |
1, y=(x+3)*-10

a,"-‘?— hf. K‘:.
9 y=(x~5)"+4

.= = i~

3. Y =(x+%)" +2

a-= h= K=
4, y=2(x+1)* -7

Q= n= =

Now, take each of these and rewrite in Vertex Form, Then identify the vertex: (2,7 X - :-#b-
Standard Forin Vertex Form Vertex isat . .. 20
5. y=x"+8x~1

Q= b= Cz
6. y=x"—6x+17

0= b= Lz
7. y=x"‘ ~5x-11




Unit1 Lesson 1 Name

1. Convert from standard form to vertex form. 2. ldentify vertex and axis of

= ...0try. (Work on notebook paper & answer in box)
I, 4x*+40x+3=0 2 BAEx+a=0 - 3. X+Ax+2=0
4, 25 +4x+11=0 5 3x%-6x+8=0 6. -4x2-24x+9=0
7. -x*-10x+4=0 8. 2x2+20x41=o 9, x*-2x+11=0
10, -3x%+6x-4=0 11, 2% +4%-5=0 12. 2x%-16x-3=0
13. x*-4x+2=0 14, 3x*+18x+5=0 15. 4x*-40x-1=0

Identify 1. axis of symmetry 2. Vertex ( Work on notebook paper & answer in box)

1. 5%%-2x-6=0 2. -8x*+9x+4=0 3. 5x°+10x+2=0
4, .6x2+11x-12=0 5. X+9%-6=0 6. -12x%-x+10=0
7. TxE+9x-6=0 8 8x*-11x-2=0 9. x*-2x+5=0
10. 8x*+9x-1=0 11, -6x*>+11x-3=0 12. -4x*+x+2=0

'

13. -11x*-9x+5=0 14. 2x*+5x+4=0 15. x*+6x-5=0




